H=/TA

STSERE 2 H
N = 2 THEFZI
3 . A D
H % fq 1T = £ &5 % 5 5 — =1 = % Ir.
DNTPTEREAR GEEHF LURES) A2 As®
1 SESEMIRE A2 A6Q 16:20 17:30
RERBRE A23)
s 23D
9 BEHEQ PTARS 230 1520
#3303 BRELL
3 |
4 -
LEHERRFRD BBRO s B2l T2AHM
5 DB D * SHEKIES o 202 15:20
_ A2Q EELL
N2 X6 BELL
6 SC(PM) Ea ) K22 K62 TAMI 16:20
*2@ * 6@
_ _ > 7L
SERATRNG 1-25MFKT Rk 71 i _
! (FRFEC) S EHARAT A -2 L2 FZ | 15:20
- B 1 71
1- 288K T AN (FANEEA) L
8 AT 72 15:20 17:30
B % 485 (14:50~15:10) %35
BIERER K & (5HEE) P 0]
9 mEErmEE2Q 2000 [7] $E *20 1550 17:30
LEMEERFERQ EREKE 3 A203
10 . e F
{ mronspne b
1 ezgz0o8 0 L [EEO ST, —BENBEEECTIN? 2 |
| *EEOBR KL (ER) ) T
2 REKE = - !
%2 X6M
13 * 64E%IAS 25 4202 %62 16:20 17:30
X2 N6@3
. 1 [ 0] E390)
MNPEERQ) ERERE  fe s
14 YN ; W2 #E K2Q) Y10 15:20
#E20 SEFIETE [ P60 EE£3 ERELL
1 A2Q A6
15 1EE HHEERS s A6Q 16:20 17:30
A613)
260
16 BHREE $E : 16:20 17:30
17 BPREES FETHIEEES .
n 198 (B) D6#EFE Hi254 8
—
[ i85 A2 0]
19 FREEZRES: A% ﬁﬂ;#ﬂ##ﬂ-“ s x50 H6® 16:20 17:30
= A23 H6®
o - 0] PR0)
20 ;‘*&;’;;’*‘ﬁgﬂ%mgm 228) BE %22 6@ 16:20 17:30
*2@ * 6@
.= k2D &
21 BAZO £#t20 wparg |2 FE k2@ £ 15:20
) 3 K2®) & BFEEL
..... 1] &2 26D
22 EEERLHLERE 2| pE %20 £6Q) 16:20 17:30
3 £20Q %60
23 REHER -
24 |
25 ERG2K =
AU ERRRCEER RN (~29H) | 1] EF0) E50)
26 BHERG® 2| =5 A2Q A6Q@ 16:20 17:30
e LR A *VDEDYHIES [3 B23 B6®
1 %2 X6M
27 REEs LR B/ QIR s 422 462 16:20 17:30
X203 N6@3
k2@ =
28 BRERO FH20 €EFHERFA FE K22 15:20
k23 BBEEL
A2
29 BHREHA 25 K2@ 15:20 17:30
K23




